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O Mg 43

(H2l: mg/2)

_ e | 42 DO |Salinity| COD |di&a24| T-N | T-P | cN | cu | Pb | cd

T = YUxt | () PH (mg/8) | (%) | (mg/f) |(@=/100md)| (mg/£) | (mg/€) | (mg/£) | (mg/£) |(mg/L)| (mg/2)
szl = - - 1% - - - | 1000 | - - 1001|002 005|001

1. @& =3 [11/13]12.2] 8.0 | 8.9 | 29.9 | 1.3 | 1,300 | 0.71 |0.064]0.000[0.003] 0 | 0
P. Oi8ds A=EE =2t | 11/13112.0) 8.0 | 8.9 | 29.4 | 1.0 220 0.77 10.064|0.000/|0.002| O 0
3. olmuE M9l |11/13] 12.1] 8.0 | 8.9 | 30.2 | 0.9 | 270 | 0.64 |0.061]0.000[0.001] 0 | 0
4 Q01 =2 11/13[12.0] 7.9 | 9.0 | 30.4 | 1.2 | 110 | 0.57 [0.066(0.000[0.002] 0 | 0
5. oG 2= 1/13[11.4] 79| 9.2 | 26.1] 1.5 | 190 |1.23/0.066(0.0000.002] 0 | 0
6. 9= == |11/15| 11.8| 8.0 | 9.2 | 30.4 | 1.2 | 260 | 0.63 |0.057|0.000[0.003] 0 | 0
7. RO|& et 11/15114.3| 8.0 | 8.8 | 31.0 | 0.6 100 0.47 {0.0411]0.000|0.002| O 0
8. =olels =2t |11/13|13.7 | 7.7 | 8.6 | 27.1 | 2.2 | 17,000 | 1.33 |0.221]0.001{0.001] 0 | 0
0. 8 =¢ 11/13|1 13.0| 8.0 | 8.6 | 30.8 | 0.6 120 0.47 10.04110.000]|0.002| O 0
0. 9=< =o  [11/15| 14.0| 8.0 | 8.7 | 30.9 | 1.1 | 80 | 0.40 |0.010/0.000[0.002] 0 | 0
11. =@=c =e(1) [11/15] 13.9| 8.0 | 8.6 | 31.5 | 0.8 | 30 | 0.41 |0.036]0.000[0.002] 0 | 0
2. ol@=3s o2t |11/15] 12.3 | 8.0 | 8.9 | 31.3 | 0.6 | 170 | 0.46 |0.043]|0.000[0.000] 0 | 0
13. ©@=C =2(2) [11/15] 13.3 | 8.0 | 8.7 | 31.1| 0.8 | 20 | 0.41 |0.035|0.000[0.001] 0 | 0
4. 29< M2 |11/15]| 12.7| 8.0 | 8.8 | 28.3 | 0.7 | 10 | 0.46 |0.036]0.000[0.002] 0 | 0
5. M= M2 |11/15| 11.6| 8.0 | 8.9 | 29.9 | 2.8 | 41 | 0.58 |0.051]|0.001]0.002] 0 | 0
6. 492¢ M2 [11/15| 11.4] 7.9 | 9.0 | 27.3 | 3.7 | 210 | 0.94 [0.067]|0.001]0.002] 0 | 0
17. Btee =2 (11/13] 12.3| 7.9 | 8.8 | 29.1 | 1.2 | 8,700 | 0.98 |0.070]0.001]0.001] 0 | 0
18. 9= —or [11/15| 14.4 | 8.1 | 8.6 | 30.8 | 1.2 | 10 | 0.42 [0.041]0.000[0.001] 0 | 0
19. &2 26iCk  |01/14| 11.4| 7.8 | 9.0 | 26.7 | 5.1 | 170 | 0.96 |0.066]0.001]0.001] 0 | 0
0. mE ofe 1/13[108] 79| 93 | 24.0 | 4.2 | 32 |1.30/0.079|0.001]0.000] 0 | 0
01 NT ==2C O |11/13] 11.3| 8.0 | 9.0 | 28.2 | 2.5 | 190 | 0.85 |0.068|0.001/0.001] 0 | 0
0o &gl ooiCt |11/15] 10.2| 7.9 | 9.4 | 223 | 5.2 | 180 | 1.59 |0.104]0.001/0.001] 0 | 0
03 olmel OiCt |11/13] 9.6 | 7.9 | 9.3 | 23.4 | 5.6 | 280 | 1.34 |0.073|0.001]0.002] 0 | 0
b4 =Xl oHiCt |11/13] 10.8| 7.9 | 9.4 | 23.3 | 2.4 | 430 | 1.54 |0.093|0.000[0.002] 0 | 0
b5 2oic ==9 |11/13] 11.7| 8.0 | 9.2 | 26.5 | 1.8 | 470 | 1.150.075|0.000[0.002] 0 | 0
6. INGJIX =% |11/13]| 12.0| 8.0 | 9.0 | 30.5 | 1.0 | 63 | 0.56 |0.056|0.000[0.001] 0 | 0
7. B=C MYY |1145] 115 7.9 | 8.9 | 28.4 | 3.6 | 330 | 0.81 |0.062(0.001]0.002] 0 | 0
8. GINGC MY | 11/714] 14.0| 8.0 | 8.6 | 31.6 | 0.6 | 10 | 0.40 |0.036/0.000[0.000] 0 | 0
9. CIOIRE ==% |11/13]| 13.9| 8.0 | 8.6 | 31.3 | 0.8 | 10 | 0.36 |0.031]0.000[0.001] 0 | 0
30. M2C =% |11/13]| 14.8| 8.0 | 8.6 | 31.3 | 0.5 | 43 | 0.380.030]0.000[0.002] 0 | 0
31. M0C A% |11/45]11.2] 7.9 | 9.0 | 256 | 2.1 | 300 | 1.10 |0.064]0.000[0.002] 0 | 0
32 A=C J=9% |11/13] 11.8]| 8.0 | 8.9 | 298 | 5.8 | 52 | 0.58 |0.047|0.000[0.001] 0 | 0
33. SEC M=% |11/13] 14.0| 8.0 | 8.7 | 31.3 | 4.0 | 41 | 0.38 |0.031]0.000[0.002] 0 | 0
34 I=C MY |11/13| 14.4| 8.0 | 8.7 | 31.0 | 3.4 | 120 | 0.46 |0.034]0.000[0.001] 0 | 0
HRgt 1241808928821 | 928 |0.75[0.059(0.0000.002] 0 | ©




=2l mg/8)

2 = Zn Cr As Ni Hg |Phenol| DIN DIP | Chl-a |[M&DO| £H= | TOC

- (mg/8) | (mg/4) | (mg/8) | (mg/2) | (mg/8) | (mg/8) | (mg/8) | (mg/8) | (wo/f | (%) | (m) | (mo/2)

M LEHT|=E 0.1 | 0.05 | 0.05 - 10.0005| 0.005 | - - - - - -
1. el®st 3 4 | 0.003 | 0.004 0.001| 0.0 | 0.0 |[0.142]0.058| 1.03 | 97.5 | 1.1 1.4
2. BWI=D AEC 224 0.004 [ 0.000 O | 0.001| 0.0 | 0.0 [0.154|0.061| 0.00 | 98.1 | 1.3 | 1.4
3. ol@utst Me4 | 0.001]0.001| O |[0.001| 0.0 | 0.0 [0.128|0.058| 6.21 | 98.5 | 1.4 | 1.3
4. 201 =4 0.003|0.003| O |0.001| 0.0 | 0.0 [0.090[0.059| 0.74 | 98.8 | 2.0 | 1.3
5. MlolE 2= 0.002 | 0.001| O |0.001| 0.0 | 0.0 [0.183]0.061| 2.94 | 98.9 | 0.6 | 1.5
6. Y= s [ 0.0090.001| O |0.002| 0.0 | 0.0 [0.103|0.056| 0.00 | 100.1| 1.2 | 1.4
7. RoE gt 0.003|0.000| O |0.001| 0.0 | 0.0 [0.027]0.040| 0.00 | 103.9| 2.2 | 1.2
8. 2oteld M=gre 0.002 [ 0.000| 0 |0.003| 0.0 | 0.0 [0.590(0.206| 1.89 | 95.6 | 0.8 | 1.9
9. tHeE =¢t 0.002 |0.003| O |0.001| 0.0 | 0.0 [0.027]0.037| 1.02 | 99.0 | 1.5 | 1.2
10. 955 =¢ 0.0020.000| O |0.001| 0.0 | 0.0 [0.022{0.039| 0.00 | 98.7 | 1.5 | 1.2
11, 2= ¢ =8(1) | 0.006|0.001| 0 [0.001| 0.0 | 0.0 [0.024[0.034| 1.02 | 99.4 | 1.3 | 1.2
12, /&3 3t [ 0.000[0.000] O |[0.000| 0.0 | 0.0 [0.024|0.041| 0.87 | 99.6 | 1.2 | 1.3
13. &= & =28H2) [ 0.000]0.000] 0 |[0.000| 0.0 | 0.0 [0.048|0.034| 0.00 | 108.1| 1.5 | 1.3
4. 8Rc N 0.001|0.000| O |0.001| 0.0 | 0.0 [0.025[0.032| 0.00 | 98.1 | 0.9 | 1.2
17. 82 22 10,006 0.000] O [0.002| 0.0 | 0.0 [0.427[0.066| 0.00 | 97.0 | 1.1 1.5
18. 955 g 0.0020.000| O |0.001| 0.0 | 0.0 [0.020{0.038| 0.00 | 99.2 | 1.6 | 1.2

25. 2€& =82 | 0.002 | 0.000 0 0.001| 0.0 0.0 |0.194|0.073| 2.19 | 98.5 | 0.6 1.5
26. LNGIIXI =g 0.001 | 0.000 0 0.001| 0.0 0.0 |0.070|0.054| 1.02 | 98.4 | 1.5 1.4
28. AT N 0.001 | 0.000 0 0.000 | 0.0 0.0 |0.016|0.034| 0.88 | 99.3 | 1.4 1.2
29. oI&= S=2 | 0.003 | 0.000 0 0.001| 0.0 0.0 |0.033|0.028| 7.08 | 106.3| 2.2 1.2
30. T =Y 0.006 | 0.001 0 0.001| 0.0 0.0 |0.033|0.029| 0.00 | 99.1 1.5 1.3

2. &8 952 | 0.002 | 0.000 0 0.001] 0.0 0.0 |0.056|0.047| 0.00 | 98.1 | 0.7 1.3
33. 98X A= | 0.004 | 0.000 0 0.001| 0.0 0.0 |0.029|0.029| 0.00 | 99.0 | 1.5 1.2
34. S5 MY 0.003 | 0.000 0 0.001| 0.0 0.0 |0.035|0.031| 0.00 | 99.8 | 1.8 1.3

Bz 0.003|0.000( O |0.001| 0.0 |0.0002| 0.11 | 0.06 | 1.4 | 99.7 | 1.0 | 1.34




ZAdilt 8t

A A WQI R A A A WQI AT
1. 1M =34 28 &g |18 9%= 4 26 I &)
2. M5 YE= 57| 28 I (Ee |19 AF dnpg 40 m (%)
R s = s | 40 m (xS | 20. 2% o 40 m xS
4. Qo= B 28 I (Es 21. FE= o1y 40 m®E%)
5. Aol = 46 mEE |22 F3Fg guig 49 v (4
6. 9= g% 28 I (E2) | 23 o=g gulg 52 v (48
7. Fox Wi 26 I (E | 24 =AY gulg 40 n (%)
8. 27+ A8 40 m@Es) |25 9= 559 37 mxEs)
9. Hi= 5o 24 I (F2) | 26. LNGZ 1A 2% 28 I E
10. ¥%= 59 26 n&Ee) | 27. A2 A 43 m(E%)
11. 93 = 23 24 I &Ee) | 28 93x= A4 24 I &
12. 14 F39 3t 26 I (E2 | 29 told= T8 32 I (F2)
13. 93 = 24KQ2) 24 I (EL) | 30 A7tz 24 20 I (=)
4. &= A% 28 I & |3 d=2= 4% 40 mEE)
15. AE= A% 38 mEs |32 5= 45% 37 mEs)
16. Ax% Agat 40 mE%) | 33 938= A34 20 I (M-F3)
17. 9 HT B 30 M EL) | 34 948 A% 22 [ (2

O AHAE s (24704l 3k e IRt sjrrd 71&E S5

Isa°] 16714, Iswol 57/Ha= Yepstow, AR 5 SF4H=Z<

DIN, A% DOX3%, chl-a, FHEY Ags %33 Aoz Jelhgtor
DIP9] s57} FoH WQI 25522 A I

O Z3Aet 1070l e A7t sjerd 71 s52 Msa°l 774,

IVsa°] 3742 Yeptor, DIN, A5 DOXSIE, chl-a® AHlE $&Es)
U, DIPQ 57} 3 EWEr/} HA 03m=E ol QAL RT =2 WQI

3eHoE AL



O 20173 4%7] HU, H4&, H

E (3471 &)

(cHl: mg/2)
T A5 la | &
|7 H | DO COD|T-N | T-P | Cu | Zn | DIN | DIP
(c) | P (%) (ugL)| =(m)
A | 148 | 81 | 94 | 31.6| 58 | 1.59 [0.22110.003|0.009(0.5900.206| 7.1 | 2.2
A% | 96 | 77 | 86 | 223 | 05 | 036 |0.010/0.000|0.0000.016|0.028| 0.0 | 0.2
B | 124 80 | 89 | 288 | 2.1 | 0.75 [0.059|0.001|0.003|0.110| 056 | 1.4 | 1.0
* DIN(&EF 7] 8 2, NO;-N+NO,-N+NH;-N), DIP(& %712, PO,P)
* WQI(FZ 7} A4%k, Water Quality Index)
O 20178 4&7] A<t 9 HA4 5% v
(St mg/L)
I A& hla | 9 | WQI
F 2| | pH| DO COD| T-N | T-P | Cu | Zn |DIN| DIP i
(c) |P (%) (ell) E(m) (57
Q1
Siop | 130 |80 |88 (301 |15 | 0.61|0.054/0.002|0.003|0.104(0.052| 11 | 1.4 (?[?)
ARSI
Sar |11.0]79] 91 [259] 3.7 | 1.10 [0.073]0.002|0.002|0.120 0.066| 2.2 | 0.3 (‘ﬁ?)
O 173 487] 34A "o gt et sfud =AFAd, AAZ A9 WQI
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